AR SR LHi
3 e E o
s A pXIFRENFFH B2 5 A 21 A
TFIAeEF A “—t‘f{*ﬁ:’\' g B %
=2 M S ) |
fiad 25% E ESW v
LA B | agg LERARTEES 00% | 1 [#ypeapraea
2R 0% 9 | iR tE 40 o1t &
ru}i’f'. = o) L 0 %.]. v b _’%
iy 25-120 2%% 3 0% 3 |-
- 4 —
EkE
1E T 500~ I
3P HhE
3 I
VERAGT ) A, 18 i 4 +
A @3?5&%% 113267 119 (=) Xhﬁ%&% VEEE: B x
Ly 21:00." / ISR ES o - fd B YR & TR
Y ERREEEA 528 4 W ’i@i’tl fad g
@ﬁﬁﬁﬁéﬁm%>J‘*%&*iiki§ fo- g |17
B-12 %89 17~ % ¥ & 934 P
S & AN Y FPEY * % (FHAARE
Py Bl 7 Al ’%gﬁ{j '%i'iﬁti AT T BB . ,*,;:) )
Flemppes, frgr R R el
T x =
TR E ? e B2s ki pet3 ¥ (T4 0
LS ) - % C. 3 ~4m: —
i C-1-C6-CT7-C8 47
SR ASE (113260 240 (- B gaage g D FEFE AR
n 100500 47 L33 (g o o
WHFRFHAE (113267 25p (=) C-1~C6~CT7~C8 4t
ok p 12:00. D-1% =4 MR < #
225 (§)B £ 113267 278 (=) - e
H B/;!p 10:004= Piﬁ;%)ﬁﬂﬂ W(EEY AR R )—Tlt,;gf,.,#\_g Y TEETY
5 (H)m L WA (113267 28p (1) e
A0 p Y 12:00. D-38 & fIF & FTH
. L AR = A —— 1
FYRRAFT ) R BT R A TRRL A R LEY RS S FRERAD U TR LA
AL g 2.A 9 ER Y FY AT L TR PHFRIF B
f 7 PR g
RN TV ety sy Nt
Lk jesa g Py AT
Ha A PGS Y ARG FRE AL TREA R SR AT R
3.2 RCIE 5 A4 i EARFTHER A5
i ZERNFHED > FID-38 4 1 1% H TR
$2 8113267 59 (10 =)10:004 1 1326 1 (’l> h o
fSL(He Rt ch # * B 002k 0 2 53
ttps://exam. nuu. edu. tw)B~ ¥ HAHE 5L > H2 4y 27 F ;%%%’0; I AR AT N dp L

UI3% & Rx jto &R PEAF ~ F 4 1108



